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4,786,000 4,786,000,0008 =
10. SHAEZ= SHEX 2
3,500,000 3,500,000,000& =
[330] 40,895,000 | XtXIESHAIOl &
[330-01] 40,895,000 | A XISHHMBABE
1. MEHSNCX 2SI
40,895,000 40,895,000,0008 =
[305] 18,717,000 | 2ol M A=
[320] 13,782,000 | gI2t0l A
[320-01] 13,782,000 | QI2tFAE X
1. 20 HeA=H 24
13,190,000 13,190,000,0002 =
2. FUHBOS IR
592,000 592,000,000 =
[330] 4,935,000 | KHXISHRIOl &
[330-01] 4,935,000 | IHXISHBAEX
1. 20X sH 29
4,935,000 4,935,000,0008 =
[307] 77,585,000 | M 250l At X
[320] 77,585,000 | 2I2t0| &
[320-01] 77,585,000 | Sl2tABAE X
1.8 DHSSA35
13,974,000 13,974,000,000 =
2.80 MNE 2532 2435
16,452,000 16,452,000,000 =
3.4 2N 2 X
6,059,000 6,059,000,0002 =
4. W20 %N
14,150,000 14,150,000,000 =
5. 2350z Fe=20t 84
15,003,000 15,003,000,0008 =
6. JIEt W& 250z IE
11,947,000 11,947,000,000 =

= 1 063-5100-5161-307-320 : M S-HEHISIF -4

2N= gde-Ms-S230sAe NEA-22t01A
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ac
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[320] 13,800,000 | gI2t0l A
[320-01] 13,800,000 | It B AE X
13,023,000 | 1. AZXES E2
I HEAZX B2
600,000 600,000,000 =
L. dEL20XE
600,000 600,000,000 =
Ch. DISpHE NS
5,736,000 5,736,000,0008 =
U MAZEEDS
1,597,000 1,597,000,0008 =
OF. IS W3l XA
1,650,000 1,650,000,000 =
H. HHSEZ2 ALY
1,640,000 1,640,000,0008 =
Ab. HIHIDFQIE A= (I A)
300,000 300,000,000
Of. ZEXM Y NS
900,000 900,000,000 =
2. [UAIZHRMEH 2
777,000 777,000,000 =
[330] 200,000 | XXM OIA
[330-01] 200,000 | KXISHHBAE X
1.2 dELNIEANL 248 XA
200,000 200,000,000 =
[312] 100,000 | AZ =3I AKX
[320] 100,000 | ©l2tol A
[320-01] 100,000 | Ql2tBF A X
1. JYAZTXEG 25 A XA
100,000 100,000,000 =
[5163] 365,279,000 | MEH AL X
[300] 255,314,000 | 2olMSHE AN
[210] 150,000 | 294l
[210-01] 150,000 | LEr=H]
5 1 063-5100-5163-300-210 : MIS-MEHSSH-MSINSALE N-2UHNSHE A X -2H|
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1. AP 29|
150,000 150,000,000& =
[320] 300,000 | 212t0l A
[320-01] 300,000 | QI2tAAE X
1. 22HSAE 224 U ZAHAR
300,000 300,000,000& =
[330] 254,864,000 | AFXIEHMOIA
[330-03] 254,864,000 | AXSHMA2E X
1. =200MSHE HE
175,904,000 175,904,000,000& =
2. 22MESE ARDHYIZ HEY
41,000,000 41,000,000,000& =
3. COsdis2 A8 X3
37,960,000 37,960,000,000&=
[306] 28,580,000 | JIZMEH S HHSA X &
[320] 1,000,000 | QI2t0l &
[320-07] 1,000,000 | QI2tXt=282 X
ASonsSHH A
1,000,000 1,000,000,000& =
[330] 21,080,000 | AkXISH Ol &
[330-03] 21,080,000 | ArXISHHMA2E =
1. 24 2o S ESA HE X2
2,550,000 2,550,000,000& =
2. 2E RIHSHH HEY
1,700,000 1,700,000,000& =
SLHIH HIEAZZ2ZA A HE
300,000 300,000,000& =
4. 02 SH2SHSHE HE
3,310,000 3,310,000,000& =
5, NE HHEQEHE =&
920,000 920,000,000& =
6. 525 SN =SEHH HE
1,000,000 1,000,000,000&
7. 3FzZAEMYH
600,000 600,000,000& =
= 1 063-5100-5163-306-330 : MIS-MENSSH-MEHNSAE N-IZMEHNS HHSA X2 -XX SO0l H
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20204 X
e
=L W
8. OIATAl =T AIS 2R 2o HMSMH 28
2,000,000 | 2,000,000,0008 =
9. €I HYFA RAE ERMEH AY
3,000,000 | 3,000,000,0008 =
10. 2% SEHSUE(SLA)
1,000,000 | 1,000,000,000% =
1. BFA ZYHBZIIT HE
500,000 | 500,000,000
12, 247 R4W EPHEIT X4
500,000 | 500,000,000% =
13. N7 SERLX S S X4
1,200,000 | 1,200,000,000% =
14 N2 SE2 M2USAL
2,000,000 | 2,000,000,000%=
15, 255 OSSN M2 HEILIAT T
500,000 | 500,000,000% =
[420] 6,500,000 | 21 & 4]
[420-03] 6,036,000 | ZAtt]
| =2oASAER" ~AE=OxME daA =
6.036,000 |  6,036,000,0008 =
[420-04] 450,000 | Z2ltl
| 20HSdERY AE=JIAME AA D
450,000 |  450,000,000%
[420-05] 14,000 | A& =0HH]
| 20HsdEad AEXJIAdH daxd
14,000 | 14,000,000% =
[309] 81,385,000 | ZZHSANE W2+ A
[330] 81,385,000 | XHxI CHA 01 &
[330-03] 81,385,000 | XA A X2 2 X
1. ZSASAE H2+ N
71,985,000 |  71,985,000,0008 =
2. BF RS0RF 2I2YY
6,400,000 |  6,400,000,0008 =
3.ZEA P SHSSH 228 MY
3,000,000 | 3,000,000,0008 =
= 1 063-5100-5163-309-330 : MIS-4SHSSY-SEHSAE NRA-IIUSAL WS4 - X SHOIH




20204 H =
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[5164] 34,184,000 | stR S S4
[300] 11,586,000 | £S3tm AE XA thXl K&
[330] 11,586,000 | XFx|EH 0l &
[330-01] 11,586,000 | KIS H A2
11,586,000 | 1. 2S38tw AZ= ZA thAl A&
b AEXZAR Q2
11,089,000 | 11,089,000,0008 =
Lh AE XA Q14|
497,000 |  497,000,0008 =
[301] 22,598,000 | $ % ABXTZ 12 2SS &
[320] 22,598,000 | SI2t0I &
[320-01] 22,598,000 | BItB AR X
22,598,000 | 1. % WE ATXTZ ]2 29
b Stmot ATET2
12,114,000 | 12,114,000,0008 =
Lh stng ATXT2 )3
10,125,000 | 10,125,000,0008 =
Cholngol 2 82 S 2|
359,000 | 359,000,000 =
[5200] 388,106,000 | 2SS4
(5261] 333,892,000 | H2H S S4
[300] 18,692,000 | gt M S5l 2N
[320] 18,692,000 | 21201 &
[320-01] 18,692,000 | QI Z A B =
1. Q12|
13,252,000 | 13,252,000,0008 =
2. )12
3,909,000 | 3,909,000,0008 =
3. 3l 2zl
1,531,000 | 1,531,000,000%=
[301] 36,742,000 | Sl RES A ¥ K& X2
[320] 36,742,000 | ©I12H0I

w1 063-5200-5261-301-320 : MIS-& =2

HEsd-8
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20204 X
e
=R W
[320-01] 36,742,000 | QI BN B X
.52 22 ol 2 Nl =29
80,774,000 | 80,774,000,000% =
2. HEZBY 75
1,271,000 | 1,271,000,000% =
3.AEX O gy XY
914,000 |  914,000,000% =
4. 25|84 X2
1,048,000 | 1,048,000,000% =
5. BIMINA EEMNE FUHE Ha
2,735,000 | 2,735,000,0008 =
[306] 300,000 | BI=RAZ= HHUStH HAF O A
[320] 300,000 | eI2r0ld
[320-01] 300,000 | IFF B X
[ B=2AEx g@ad FA0A
300,000 | 300,000,000% =
[312] 113,120,000 | 2+ 8+ S 1 &
[320] 113,120,000 | 120l &
[320-01] 113,120,000 | QA HAE X
1.20l0E 22 A&
51,422,000 | 51,422,000,0009 =
2H4E 2Y
31,178,000 | 31,178,000,000% =
32264 54
11,100,000 | 11,100,000,000% =
4 BAUUE S4
3,372,000 | 3,372,000,0008 =
5. BURH+ 84
5,377,000 | 5,377,000,0008 =
6. SHALE QT3 25
2,630,000 | 2,630,000,0008 =
7.SNES R+M4 84
8,041,000 | 8,041,000,000% =
[315] 4,603,000 | REASU22 A
[320] 4,603,000 | 212H0I &
= :063-5200-5261-315-320 : HS-HEMSSL-HSHS SH-TLHSLSY AY-01 20X
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[320-01] 2,479,000 | QI2+ZAE X
1. AZX AAIEE ALY
2,479,000 2,479,000,000& =
[320-07] 2,124,000 | 212t X228 X
1. SEMSsELS2 HE
2,124,000 2,124,000,000& =
[316] 1,372,000 | MM =4
[320] 1,372,000 | 212t0| &
[320-01] 1,372,000 | QI2t3 A2 X
1.HSsCMHSEME At 22 X&
127,000 127,000,000& =
2HNESE20IEHENII 1S
1,245,000 1,245,000,000& =
[317] 156,772,000 | == CHHM X &
[320] 156,772,000 | 212t0l &
[320-01] 156,772,000 | 2I2tF3AE X
1,22 AZX8435
53,303,000 53,303,000,000&=
2. 224 Ol0tF0H A= 43 XA
41,388,000 41,388,000,000& =
. HNSIAEETA HLHHA =2 X
36,214,000 36,214,000,000& =
4. AZXZY 4 KH
5,174,000 5,174,000,000& =
50, 2 AT X HHMAY L SEAY XS
20,693,000 20,693,000,000& =
[321] 2,291,000 | AL =R2|IHMEH 2Y
[320] 2,291,000 | 212+01 &
[320-01] 1,741,000 | QI2tA A B X
1. AZXQAZEHEH 2
1,741,000 1,741,000,000& =
[320-07] 550,000 | 12t X228 %
1.AZXOAEHH 2Y
550,000 550,000,000& =

1 063-5200-5261-321-320 : -8 & W
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e
= W o
[5262] 32,595,000 | ®2HSSH RS
[300] 32,595,000 | @2 (LE)ME K&
[320] 7,700,000 | 212H0IA
[320-01] 7,700,000 | QI BHBE
N ER
2,958,000 | 2,298,000,000%+660,000,0008 =
2. HRAUME X
4,742,000 |  4,742,000,000% =
[330] 24,895,000 | XX EHAI 0/
[330-01] 8,519,000 | KNS HSHSE
EEN BB
3,500,000 | 8,500,000,000% =
2. HMBAEME X
5,019,000 | 5,019,000,000% =
[330-03] 16,376,000 | NS A2 2 E
| ERARNEAY
16,376,000 |  16,376,000,000% =
[5263] 21,619,000 | MF =X A
[300] 17,012,000 | MS =T AL
[210] 13,000 | 2l
[210-01] 13,000 | Qer+2Ul
| 2NUEAS SN RS 29
13,000 | 13,000,000% =
2. HSQl MEAHEA
0%l=
3. ZIAFHADAZHE N
0% =
[310] 9,684,000 | &3
[310-04] 9,684,000 | JIEI2 @3
BEPEEI TR
9,684,000 | 9,684,000,000% =
[320] 7,315,000 | 212101 A

1 063-5200-5263-300-320 : MES-d =2 M= 4 Xl
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20201 2 &
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[320-01] 7,315,000 | QBB E
N
1,648,000 | 1,648,000,0008=
2. HSYWHI
5,667,000 | 7,500,000,0002 -1,833,000,0008 =
[301] 4,607,000 | ZOHAI S S XA
[310] 4,004,000 | 283
[310-04] 4,004,000 | JIEl2 @3
IEEEEr RN
4,004,000 |  4,004,000,000% =
[320] 603,000 | 2120/ &
[320-01] 603,000 | 2B S
N
603,000 | 603,000,0008=
[5300] 216,094,000 | ~AE=dg =4
[5362] 12,973,000 | AZ =494 17 2 I &4 (R&D)
[300] 5,091,000 | A==t X d
[320] 3,895,000 | 21210 A
[320-01] 3,895,000 | BB E
| NAAE=08 HE 29
3,895,000 | 8,895,000,0002 =
[430] 1,196,000 | S& R &
[430-01] 1,196,000 | Atat# S|
[ e=ig=fZa ANa 25
483,000 | 483,000,0008 =
2. HHMHAE AEXDSME 2
713,000 | 713,000,000 =
[601] 4,100,000 | AE=AMUI~ A5t X2 (R&D)
[360] 4,100,000 | P HLES
[360-05] 4,100,000 | P LA EEH S
REEV FEEPEETE
4,100,000 |  4,100,000,000% =

w1 063-5300-5362-601-360 : MSF-AEZAY SH-ATTAY A7 A I (RAD)-AE=MHHIA AHE S KT (R
&D)-AFNMLEAZ
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[604] 3,782,000 | AEZHY HETIIUTH #4IIE HZ(RED)
[360] 3,782,000 | AP HLE 2
[360-05] 3,782,000 | TN LA T HSHIS
e RS
3,782,000 | 3,782,000,000%
[5364] 71,343,000 [ JI2 X8 JIgAIS NI
[302] 67,343,000 | 2L ZE 2N
[320] 67,343,000 | 2I2HOI &
[320-01] 42,401,000 | 91BN B X
RN EREEEIETFE
41,401,000 | 41,401,000,0009 =
2. 5KITH SADIBH AEX HEA XN
1,000,000 | 1,000,000,000% =
[320-07] 24,942,000 | UA 2L R
CONZEIE GFAE 35 2 A& T
2,236,000 | 2,236,000,000%=
2. 5HTH SADIB AT A TH
1,000,000 | 1,000,000,000% =
3.2YLTY LHIIBAE DA L W24
2,350,000 | 2,350,000,000%=
4. SELATEME NS HSS
2,300,000 | 2,300,000,0008 =
5. MZHINZ BYANL HABA
17,056,000 | 17.056,000,000% =
[303] 4,000,000 | SEHATEZSEAA 14
[320] 4,000,000 | SI2HOI &
[320-07] 4,000,000 | AT =EE
| 220 iEx ZEAA 54
4,000,000 | 4,000,000,000% =
[5365] 131,778,000 | AT = Atel 24 3t
[300] 76,220,000 | AE =0 IS
[210] 120,000 | 2 Z 4l
= 1 063-5300-5365-300-210 : K- AR XY SE-ATRANQY SHF-ATIMNY SSNL-2SH|




20204 &
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[210-01] 120,000 | LBra2H]
1. AZTXAY X 2|
120,000 120,000,000 =
[450] 66,100,000 | X2
[450-04] 66,100,000 | JIEIQI2FE X2
1.AZEAY X2(S)
66,100,000 66,100,000,000 =
[460] 10,000,000 | X2
[460-01] 10,000,000 | LBt=X=
1.AZRAQY HE
10,000,000 10,000,000,000 =
[301] 55,558,000 | AX XA E S BIX A
[110] 205,000 | o244l
[110-04] 205,000 | 22242
1.J1g3gx
85,000 85,000,000 =
2. &AL
120,000 120,000,000 =
[210] 4,616,900 | 24|
[210-01] 3,147,900 | Let~2H|
1.J1g3gx
2,675,900 2,675,900,000% =
2. QUM
427,000 427,000,0008 =
3. RNHAZT MR
45,000 45,000,000 =
[210-02] 122,000 | 2222 LA Al
1.0/ 9BIXNA(ELH E)
122,000 22,000,000 =
[210-03] 2,000 | ml=H]
1.2 GN S (LREIME ASATE S)
2,000 2,000,000 =
[210-07] 588,000 | 2 xta
5 1 063-5300-5365-301-210 : MIS-AT I AY SH-ATIMY SHGH-ATIMASLHFIA-2FY|
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20204 &
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1. )AL (ATIXEZASEL AX2 )
588,000 588,000,000% =
[210-08] 4,000 | S2HI
IBPIEEENNEICETTRSS
4,000 4,000,000 =
[210-09] 90,000 | Al&&H|ISXH|
1.J|g3gX
30,000 30,000,000 =
2. &AL 2
60,000 60,000,000 =
[210-11] 25,000 | X =24l
1.J1g3gxe
25,000 25,000,000 =
[210-12] 5,000 | 2cls A
1.J1g3gXe
5,000 5,000,0008 =
[210-14] 275,000 | 22 AH|
1. /g3 X
261,000 261,000,000 =
2. QA UM R
12,000 12,000,0008 =
3. RNHAT MRS
2,000 2,000,0008 =
[210-15] 358,000 | el
1.JGBGX A (HAUHAXAY 2 NeEH S)
358,000 358,000,000 =
[220] 76,100 | 044l
[220-01] 25,000 | 2O HI
1.J1g3gxe
16,000 16,000,0008 =
2. A AL 2
5,000 5,000,0008 =
3. AFAZI=AAT R
4,000 4,000,000 =
5 1 063-5300-5365-301-220 : MIS- AT AY FE-ATIMY SHF-ATIAAS SR SA-0/H]
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4 HelEole sl
08=
[220-02] 51,100 | 2ol 207t]
IPIEEERE:
44,100 | 44,100,000% =
2. ol R
7,000 | 7,000,0008 =
[240] 29,000 | 2=yl
[240-01] 29,000 | AF =& H|
IPIEEERE]
22,000 | 22,000,000% =
2. ol R
4,000 | 4,000,000%=
3 NAAT XM
3,000 | 3,000,000%=
LIS IPN=EPN
08=
[320] 25,664,000 | 2I2r0I A
[320-01] 25,630,000 | QIABAHEE
IPIEEEPE
10,830,000 | 10,830,000,0008! =
2. ol X
5,000,000 | 5,000,000,000% =
3. NAAL =M K|
5,200,000 | 5,200,000,000%=
4. HTIIS Oloag 8
4,600,000 |  4,600,000,0008 =
[320-09] 34,000 | 28243
IPIEEERKE]
8,000 | 8,000,000%=
2. ol TR
26,000 | 26,000,000% =
[330] 20,400,000 | XXl IO/ &
[330-01] 8,600,000 | Xxl S AZABE
£ 063-5300-5365-301-330 : MIS-AE XN SH-ATEANY HES-ATEMHB LS NA-XXSHHOIH
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E
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IR EY =
4,100,000 | 4,100,000,000% =
2. SIS IIBAYE
4,500,000 |  4,500,000,000% =
[330-03] 11,800,000 | AtXI S RIXt 22 =
I EEEEY =]
11,800,000 | 11,800,000,000% =
[420] 4,122,000 | A&
[420-02] 187,000 | A A&l
IFIEEERE
187,000 | 187,000,000%=
[420-03] 3,748,000 | Z At
IPIEEERE
3,748,000 | 8,748,000,000% =
[420-04] 187,000 | 2eldl
IBEEERE
187,000 | 187,000,000% =
[430] 445,000 | sl
[430-01] 445,000 | XH&HFSHI
FEEEREES S P TR
445,000 |  445,000,0008 =
[5400] 85,435,000 | A~ E = A H A5t
[5461] 85,435,000 | RMAE= 05 #43
[300] 17,652,000 | ZM S0 S A
[320] 17,652,000 | 2120/ &
[320-01] 17,652,000 | BIABAE =
EPNEE
1,709,000 | 1,709,000,0008=
2. 2AAZDE
5,004,000 |  5,004,000,000% =
3. U=HSDE
2,513,000 | 2,513,000,000%=

= 1 063-5400-5461-300-320 :

HE-=HMALZASL-THMAELE WF

2H-FNMSRF NJ-22H01 A
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20201 =
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Y EES
7,716,000 | 7,716,000,000% =
5. RMBIIUS oIl X4
710,000 |  710,000,0008!=
[301] 7,676,000 | S LN E S &
[320] 7.676,000 | SI2HOIA
[320-01] 6.676,000 | B F B E
[P
2,629,000 | 2,629,000,000% =
2. THYN BSA
4,047,000 |  4,047,000,000% =
[320-07] 1,000,000 | QIA R EEE
BEEEEEEEPIEEE
1,000,000 | 1,000,000,0008 =
[302] 10,690,000 | 2XICHE =UIHE X &
[320] 4,300,000 | SI2+OIA
[320-01] 4,300,000 | BB BE
EEE I VP EPAE!
3.600,000 | 3,600,000,000% =
2. WU RN & 25t
500,000 | 500,000,0008 =
3. HHSUOIAE RS
200,000 | 200,000,0008!=
[330] 6,390,000 | XtXI EHHI O H
[330-01] 6.390,000 | HA MBS E
6.390,000 | 1. NIXAl JHE 2HZIITHE]
b XIRHNE 2 2R S
5,000,000 | 5,000,000,000% =
L. eoior 2 HREMWSE Hal
400,000 |  400,000,0008 =
Ch SAAMHSRE SRS
990,000 | 990,000,0008 =
[304] 18,731,000 | BHAE &2
[320] 18,071,000 | ©I2r0&
= 1 063-5400-5461-304-320 : M S-S HMAZXASASH-INAEZX DR SHS-HAZ IS-220/F
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[320-01] 18,071,000 | QI2t B AE=X
1B E NS
14,888,000 14,888,000,0002 =
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